log AL luminance difference
threshold
X Yy A
A 0,34 0,40 experiment: >
Y 045 047 xpo1sA o 5
0,15 0,19 3 repeats. ,\3\
058 032 . sornd
0,25 0,44

Lg=630cd/n?

R RN

log AL luminance difference
threshold
X Yy R
A 034 0,40 experiment: "
L Y 0,45 047 pyvig1sA ol
0,15 0,19 3 repeats Y
058 0,32 ..t
0,25 0,44 >

Lg=630cd/nt

log AL luminance difference
threshold

. X y

A 034 0,40 experiment:

4 Y 045 047 ypp1sy o
0,15 0,19 3 repeats S
0,58 0,320 | %13 3”\ 5
0,25 0,44

Lg=630cd/nt

log AL luminance difference
threshold
X y
A 034 0,40 experiment:
L Y 045 047 pgg1sB
0,15 0,19 3 repeats
0,58 0,32
0,25 0,44

TES520-7A_1
TE520-7R

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
Y 045 047 p5gggA .

015 0,19 &
b 2 3repeats .
058 032 ~ va >

0,25 0,44

Lg=630cd/n?

TE520-2A_1

log AL luminance difference
threshold

27 X oy
A 0,34 0,40 experiment:
| Y 045 047 App1sA 0
0,15 0,19 3 oheats “:&"\
058 032 L ..¢°
0,25 0,44 )

Lg=630cd/nt

%

log AL luminance difference
threshold
X oy

A 0,34 0,40

L Y 045 047 Apgigy

0,15 019 3 repeats .

0,58 0,32 | (v Sen

0,25 0,44

Lg=630cd/n?

experiment:

TE520-6A_1

log AL luminance difference
threshold
X .y

A 0,34 0,40

| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s B
3 repeats

TE520-8A_1

log AL luminance difference
threshold
X oy
A 0,34 0,40 experiment:
Y 045 047 gyio1sR

0,15 019 3 repeats
0,58 0,32

0,25 0,44

Lg=630cd/n?

TE521-1A_1

log AL luminance difference
threshold
X y
A 0,34 0,40 experiment:
L Y 045 047 Ap(1sG
Ui Ly 3 repeats
0,58 0,32
0,25 0,44

log AL luminance difference | _
threshold Lg=630cd/n?

X y
A 0,34 0,40 experiment:

L Y 045 047 ApgisAB ¥
015 019 3 epeats «‘:"‘\
0,58 0,32 WA

0,25 0,44

TE521-5A_1

log AL luminance difference | _
threshold Lg=630cd/n?

X y
A 0,34 0,40 experiment:
L ¥ 045 047 Apg15AG
015 0,19 3 yepears :
0,58 0,32 A
0,25 0,44

TE521-7A_1

log AL luminance difference
threshold
Xy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,4:

Lg=630cd/nt

experiment:
AD0,1s R
3 repeats

log AL luminance difference
threshold

r Xy

A 0,34 0,40

1Y gv‘l‘: gv‘l‘; AD0,1s AY

, =2 3repeats ., %

058 0,32 . taogvY

0,25 0,44

Lg=630cd/n?

experiment:

:"
AR

log AL luminance difference | __
threshold Lg=630cd/n?

X y
A 0,34 0,40 experiment:

L Y 045 047 Apgi1sAR o ¥
0,15 019 3 epeats .Qf‘;""
0,58 0,32 s

0,25 0,1;

TE521-6A_1

log AL luminan ifferen -
09 AL i SRoie difference 1 g=ssocant?
X y
A 0,34 0,40 experiment:
L Y 045 047 kRo1sAY
0,15 0,19 3re eats..;,g.
0,580,821+, %% 50
0,25 0,44

TES521-8A_1




log AL luminan ifferen -

09 AL WmRor dfference 1 gasog?
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44 A

§‘~§ ~ ly.z

experiment:

KR 0,1s A

3repeats &
3

X

threshold

X oy
A 0,34 0,40
| Y 045 047 gygisa .
5\

015 019 3 repeats A
0,58 0,32 3;

0,25 0,44
AR Y .30'
8

log AL luminance difference Lg=63cdin?
<

experiment:
P O

.,
*
v
¥
I3

-1

log AL luminance difference =
threshold L g=63cdin

r Xy

A 034 0,40 experiment: t

1Y 045 047 yp 0,1sY *

0,15 0,19 3 repeats -
0,58 0,32 X
N

0,25 0,44 A

S et
S
§z$§§~\'

log AL luminan ifferen -

09 AL WMRoer difference 1 gascai?
X oy

A 0,34 0,40

| Y 0,45 047
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
PO 0,1s B
3 repeats

TE520-7A_2
TE520-7R

log AL luminance difference -
g threshol L9_63Cd.m?
X oy
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44 >
LS AL

experiment: ¥
PO0,1s A 3
3 repeats X

TE520-2A_2

log AL luminan ifferen -
o e ey ererice Lg_GSCC\“mZ
21 X Y

A 0,34 0,40 experiment:
L Y 045 047 Apo1sA
0,15 019 3 repeats >
0,58 0,32 ,;‘\
025 044 .. 3

AL s

X

log AL luminance difference =
threshold L g=63cdin?
X oy
A 0,34 0,40 experiment: W+
L Y 045 047 Appgisy \

0,15 019 3 repeats S
0,58 0,32 3

0,25 0,44 W
Sttt gv\‘s"i

TE520-6A_2

log AL luminan ifferen -

00 AL mRar difference 1 geaacai?
X oy

A 0,34 0,40

| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s B
3 repeats

TE520-8A_2

log AL luminan ifferen -

09 AL I Rar difference 1 geaacai?
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
BM 0,1s R
3 repeats

TE521-1A_2
log AL luminance difference =
threshold L g=63cdin?
Xy
A 0,34 0,40
L Y 045 047 Ap(1sG
0,15 019 3 repeats
0,58 0,32
0,25 0,44

experiment:

log AL luminan ifferen -

09 AL i Rarr difference 1 gaacai?
r Xy

A 0,34 0,40

| Y 0,45 0,47

0,15 0,19

0,58 0,32 ¢
0,25 0,44 Xt

TILY Nand

experiment:
AD 0,1s A,B
3 repeats

TE521-5A_2
log AL luminance difference -
threshold Lg=63cd/ nf
X oy
A 0,34 0,40
L Y 045 047 Ap01sAG

0,15 019 3 repeats S
0,58 0,32 &

0,25 0,44 Al
SRR

W

experiment:

TE521-7A_2

log AL luminance difference
threshold
Xy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s R
3 repeats

Lg=63cd/nf

log AL luminance difference
threshold
r X y
A 0,34 0,40 experiment:
J Y 045 047 Apgisay

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44 e
RVOARERARE

3

Lg=63cd/n?
N

A N

log AL luminance difference

threshold
Xy

A 0,34 0,40

| ¥ 045 047

0,15 0,19

0,58 0,32

0,25 0,44 o

ATAR o t‘ 3

experiment:
AD 0,1s AR
3 repeats

X

TE521-6A_2

log AL luminance difference
threshold
Xy

A 0,34 0,40

| Y 0,45 0,47
0,15 0,19 3repeats
0,58 0,32 N
025 044 oy AN

IV

experiment:
KR 0,1s A)Y

X

Lg=63cq/n?

o
N

a0

v
W

TE521-8A 2




log AL luminan ifferen -

09 AL R Roier cifference g6 acan
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
KR 0,1s A
3 repeats

log AL luminan ifferen -

09 AL Roer cifference g6 acant
X y

A 0,34 0,40 experiment:

L Y 045 047 gyg15A
015 019 3 repeats

0,58 0,32

0,25 0,44

log AL luminan ifferen -
09 AL Roer cifference  gz6 acant
r Xy

A 0,34 0,40
] Y 045 047
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
KR 0,1s Y
3 repeats

log AL luminance difference | _
threshold Lg=6.3cd/n?

X oy
A 034 0,40
| Y 045 047
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
PO 0,1s B
3 repeats

TE520-7A_3
TE520-7R

log AL luminan ifferen -

09 AL mIRor difference g6 acun
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
PO 0,1s A
3 repeats

TE520-2A_3
log AL luminance difference =
threshold Lg=6.3crint
21 X Y
A 0,34 0,40
L Y 045 047 Apgi1sA

0,15 019 3 repeats
0,58 0,32

0,25 0,44

experiment:

log AL luminan ifferen -
09 AL WRTRoR difference  1ge6 acan?
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s Y
3 repeats

TE520-6A_3

log AL luminan ifferen -
09 AL PMRoer difference  1ge6 acan?
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s B
3 repeats

TE520-8A_3

log AL luminance difference
threshold
X .y

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=6.3cd/n?

experiment:
BM 0,1s R
3 repeats

TE521-1A_3

log AL luminan ifferen -

09 AL WRTRoer difference  1ge6 acan?
X y

A 0,34 0,40 experiment:

L Y 045 047 Apgisc

0,15 019 3 repeats

0,58 0,32

0,25 0,44

log AL luminan ifferen -
09 AL PRIRoer difference  gz6 acun?
r Xy

A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD 0,1s A,B
3 repeats

TE521-5A_3

log AL luminan ifferen -
09 AL PRTRoer difference  1gz6 acun?
X oy
A 0,34 0,40
| Y 045 047
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD 0,1s A,G
3 repeats

TE521-7A_3

log AL luminance difference
threshold

X
A 0,34
Y 0,45

0,25

y
0,40
0,47

0,15 0,19

0,58 0,32

0,44

experiment:
AD0,1s R
3 repeats

Lg=6,3cd/n?

log AL luminance difference

threshold

. X

A 0,34
1Y o4
0,15

0,25

y
0,40

0,47 Ap 0,15 AY

0,19

0,58 0,32

0,44

experiment:

3 repeats

Lg=6,3cA/n?

log AL luminance difference
threshold

X
A 034
| v 045

0,25

y
0,40
0,47

0,15 0,19

0,58 0,32

0,44

experiment:
AD 0,1s AR
3 repeats

Lg=6,3cA/n?

TE521-6A_3

log AL luminance difference
threshold

X
A 0,34
| v 0,45

0,25

y
0,40
0,47

0,15 0,19

0,58 0,32

0,44

experiment:
KR 0,1s A)Y
3 repeats

Lg=6,3cA/m?

TE521-8A_3




log L/AL luminance contrast
sensitivity threshold

experiment:
KR 0,1s A
3 repeats

log L/AL luminance contrast
sensitivity threshold

experiment:

BM0,1s A

3 repeats
0,15 0,19
0,58 0,32
0,25 0,44

5 x=logL
TES20-3A_4
log L/AL luminance contrast

sensitivity threshold L g=630cdint

2 -
AN
N
I experiment: < Xy
KR 0,1s Y 2% A034
04 3repeats » Y 0,45
0,15
0,58

log L/AL luminance contrast
sensitivity threshold

Lg=630cd/nt

experiment:
PO 0,1s B
3 repeats

TES520-7A_4
TE520-7R

log L/AL luminance contrast
sensitivity threshold

g:\&“ S

experiment: ety X y
PO 0,1s A ' A034 040
3 repeats Q83 Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

TE520-2A_4

log L/AL luminance contrast
sensitivity threshold

experiment:
AD 0,1s A
3 repeats

0,25 0,44

log L/AL luminance contrast
sensitivity threshold

experiment:
AD 0,1s Y
3 repeats

TE520-6A_4

log L/AL luminance contrast

sensitivity threshold L g=630cdnf

2 .
experiment:

AD 0,1s B
3 repeats

TE520-8A 4

Lg=630cd/n?

log L/AL luminance contrast

sensitivity threshold L g=630cdnf

experiment:
BM0,1s R
3 repeats

TE521-1A 4

log L/AL luminance contrast

sensitivity threshold L g=630cdnf

experiment: : y

AD0,1s G A 0,34 0,40

3repeat5 Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

TES521-3A_4

log L/AL luminance contrast

sensitivity threshold L g=630cdnf

2 .
I experiment:

AD 0,1s A,B
0+ 3repeats

TE521-5A_4

log L/AL luminance contrast

sensitivity threshold L g=630cdn

experiment:
AD 0,1s A,G
3 repeats

TE521-7A_4

log L/AL luminance contrast
sensitivity threshold

2-

1T experiment:
AD 0,1s R
0+ 3repeats

Lg=630cd/nt

TE521-2A_4

log L/AL luminance contrast
sensitivity threshold

21

1T experiment:
AD 0,1s AY
0+ 3repeats

_1-

=2

Lg=630cd/n?

-3

TE521-4A_4

log L/AL luminance contrast
sensitivity threshold

21

I experiment:
AD 0,1s AR
0+ 3 repeats

Lg=630cd/nt

TE521-6A_4
log L/AL luminance contrast
sensitivity threshold

21

1T experiment:
KR 0,1s A,Y
0+ 3repeats

Lg=630cd/n?

TES521-8A 4




log L/AL luminance contrast , _
sensitivity threshold Lg63cdin

2--
I

» \ N

1% experiment: Wl ARy
KROAsA W% A 034 Q40
L 3 repeats Y 0,45 0,47
S 0,15 0,19
0,58 0,32
0,25 0,44

01

log L/AL luminance contrast | _
sensitivity threshold Lg=63cain?

I experiment:
BM 0,1s A

L 3 repeats
e
2

log L/AL luminance contrast | _
sensitivity threshold Lg=63cain?

experiment:
KR 0,1s Y
3 repeats

log L/AL luminance contrast | __
sensitivity threshold Lg=63cain?

I experiment: X y
PO 0,1s B A 0,34 0,40

L 3 repeats Y 045 047
0,15 0,19

0,58 0,32

0,25 0,44

> Xx=logL
TE520-7A_5
TE520-7R

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

2T

30 }Q
1% experiment: ,Vﬂ" AR Ay
POOISA A" A 034 (40
0+ 3repeats §\ Y 0,45 0,47
A 0,15 0,19
» 0,58 0,32
0,25 0,44

TE520-2A_5
log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

21

1T experiment:
AD 0,1s A
o+ 3repeats

"\

_1-

-2
-3
TE520-4A_5
log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

<

SIS
experiment: o 2 Ny
ADO,1s Y A 034 0,40
3 repeats Y 045 047
- 0,15 0,19
0,58 0,32
0,25 0,44

> Xx=logL
TE520-6A_5
log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

2T

1% experiment:
AD 0,1s B
ot 3 repeats

TE520-8A_5

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

experiment:
BMO0,1sR
3 repeats

TE521-1A_5

log L/AL luminance contrast | _
sensitivity threshold =63cdin?

experiment: 3
AD 0,1s G A 0,34
3 repeats Y 0,45
0,15
0,58
0,25

TE521-3A_5

log L/AL luminance contrast , _
sensitivity threshold L g=63cdin?

experiment:
AD 0,1s A,B
3 repeats

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

experiment:
AD 0,1s A,G
3 repeats K

"\

TE521-7A_5

log L/AL luminance contrast | _
sensitivity threshold Lg=63cd/nf

2T

1t experiment:
AD0,1s R
o+ 3repeats

TE521-2A_5
log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

21

SRV
F experiment: ,,53 S‘NQY
ADOISAY % A 034 040
L 3 repeats Q\ Y 0,45 0,47
$ 0,15 0,19
0,58 0,32
0,25 0,44

TE521-4A_5
log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

21

1T experiment:
AD 0,1s AR
0+ 3repeats

TE521-6A_5

log L/AL luminance contrast | _
sensitivity threshold L g=63cdin?

2T

I experiment: <3
KROISAY .

%\

4 3repeats o ‘
0 S

TES521-8A 5




log L/AL luminance contrast -
sensitivity threshold L g=6,3cd/nf

2--

1T experiment:
KR 0,1s A
0+ 3repeats

# y
A 0,54 (-40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 Xx=logL

log L/AL luminance contrast =
sensitivity threshold L g=6.3cdin?

I experiment: : y

BM 0,1s A AY0,.4 ' (-40
| 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 Xx=logL

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

experiment: x y

KR 0,1s Y A 0,34 0,40

3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 Xx=logL

log L/AL luminance contrast -~
sensitivity threshold L g=6 3cd/n?

I experiment: X y

PO 0,1s B A 0,34 0,40
| 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 Xx=logL

TE520-7A_6
TE520-7R

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

2--

1T experiment: Wy

PO 0,1s A A 0,34 0.40
o+ 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 X=logL
TE520-2A_6
log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

21

1T experiment: - y

AD 0,1s A A 0,34 C40
o+ 3 repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 X=logL
TE520-4A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

experiment:
AD 0,1s Y
3 repeats

TE520-6A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

2T

1T experiment:
AD 0,1s B
0+ 3repeats

TE520-8A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdint

experiment:
BM0,1s R
3repeat .

TE521-1A_6

log L/AL luminance contrast =
sensitivity threshold Lg=6.3cdinf

experiment:
AD 0,1s G
3 repeats

TE521-3A_6

log L/AL luminance contrast

sensitivity threshold Lg=6.3cdinf

experiment:
AD0,1sAP
3 repeats

A 0,34
Y 0,45
0,15
0,58
0,25 0,44

log L/AL luminance contrast
sensitivity threshold

experiment:

2 X=logL

Lg=6.3cd/n?

y

AD 0,1s A,C A vu,34 C40
3 repeats Y 0,45 0,47

0,15 0,19
0,58 0,32
0,25 0,44

TE521-7A_6

2 Xx=logL

log L/AL luminance contrast =
sensitivity threshold L g=6.3cd/n?

2--

1T experiment:
AD 0,1s R
0+ 3repeats

TE521-2A_6

log L/AL luminance contrast =
sensitivity threshold L g=6.3cd/n?

21

1T experiment: 3 y

AD 0,1s A,Y AT0,3° 1 40
o 3repeats Y 0,45 0,47
0,15 0,19
0,58 0,32
—11 0,25 0,44

_2_3 1 . 1 o Xx=logL
TE521-4A_6
log L/AL luminance contrast =
sensitivity threshold L g=6,3cd/n?

21

1T experiment:
ADO,IsA &
0+ 3repeats

p: y
AN0;84 € 40
Y 0,45 0,47

0,15 0,19

0,58 0,32

0,25 0,44

2 X=logL

TE521-6A_6

log L/AL luminance contrast =
sensitivity threshold L g=6.3cdn?

2T

I experiment:
KR 0,1s A)Y
0+ 3 repeats

b y
A 0,94 (40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

2 X=logL

TE521-8A_6



L/AL luminance contrast
sensitivity threshold

401 *X VY
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

KR 0,1s A
3 repeats

experiment:

Lg=630cd/n?

TE520-1A_7

L/AL luminance contrast
sensitivity threshold
401 Xx Y
A 034 0,40 experiment:
Y 045 0,47 BMo1s A
015 019 3 repeats
0,58 0,32
0,25

TE520-3A_7

L/AL luminance contrast
sensitivity threshold

4071 x VY
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T © 025 044

experiment:
KR 0,1s Y
3 repeats

301

101

0

Lg=630cd/nt

=3
TE520-5A_7
L/AL luminance contrast
sensitivity threshold
40. X Yy
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
PO 0,1s B
3 repeats

301

TES520-7A_7

TE520-7R

luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

PO 0,1s A
3 repeats

experiment:

Lg=630cd/n?

N

N

KPR
X

N

s.‘

N
X

TE520-2A_7
L/AL luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

AD 0,1s A
3 repeats

experiment:

TE520-4A_7
L/AL luminance contrast
sensitivity threshold
40T * Y
A 0,34 0,40
Y 0,45 047
0,15 0,19
0,58 0,32
20T < 0,25 0,44

experiment:
AD0,1s Y
3 repeats

301

101

(0]
-3
TE520-6A_7
L/AL luminance contrast
sensitivity threshold
401 X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s B
3 repeats

301

TE520-8A_7

o

o

luminance contrast
sensitivity threshold

X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

BM0,1s R
3 repeats

experiment:

Lg=630cd/n?

TE521-1A_7

L/AL luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD 0,1s G
3 repeats
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L/AL luminance contrast
sensitivity threshold

40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T < 0,25 0,44

experiment:
AD 0,1s A,B
3 repeats
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L/AL luminance contrast
sensitivity threshold
40. X y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD 0,1s A,G
3 repeats
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luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=630cd/nt

experiment:
AD0,1s R
3 repeats
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L/AL luminance contrast
sensitivity threshold

40T X Y >

A 0,34 0,40 experiment:

| Y 045 047 ApgisAY

0,15 0,19 3 repeats
0,58 0,32

0,25 0,44

Lg=630cd/n?
.
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L/AL luminance contrast
sensitivity threshold

40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T © 0,25 044

experiment:
AD 0,1s AR
3 repeats
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L/AL luminance contrast
sensitivity threshold
40. X y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
KR 0,1s A)Y
3 repeats
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L/AL luminance contrast
sensitivity threshold
401 *X VY
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25

Lg=63cd/nf

experiment:
KR O,1S A %
3repeats N
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L/AL luminance contrast
sensitivity threshold
401 Xx Y
A 034 0,40 experimenty
Y 045 047 gygisa” Sy
5

0,15 0,19 3 repeats
0,58 0,32 5

0,25

Lg=63cd/n?
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L/AL luminance contrast
sensitivity threshold

401 * Y N
A 034 0,40 experiment:
Y 0,45 047 kR 0,1sY

R S Q
0,58 0,32 SN
1 i
20T © 025 044 .

.
X
3

Lg=63cd/n?
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L/AL luminance contrast
sensitivity threshold

401 *x Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment:
PO 0,1s B
3 repeats
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luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment:
PO0,1sA >
3 repeats +*
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L/AL luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment: (%
ADOISA (3
3 repeats A \
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L/AL luminance contrast
sensitivity threshold

40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T < 0,25 0,44

Lg=63cd/n?

experiment:
AD0,1s Y ‘\
S
3repeaty ¥ "
a
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L/AL luminance contrast

sensitivity threshold

Lg=63cd/n?

401 X y

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

experiment:
AD0,1s B
3 repeats

301

TE520-8A_8

luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment:
BM 0,1s R
3 repeats
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L/AL luminance contrast
sensitivity threshold
X oy
A 0,34 0,40
| Y 045 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment:
AD 0,1s G
3 repeats

TE521-3A_8

L/AL luminance contrast
sensitivity threshold

40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T < 0,25 0,44

Lg=63cd/n?

experiment: (%
ADO01sABy
3 repeats A \
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L/AL luminance contrast
sensitivity threshold
401 X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment: (%
AD0.1sAGyy
3 repeats A \
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luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/nf

experiment:
AD0,1s R
3 repeats
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L/AL luminance contrast
sensitivity threshold
40T X y
A 0,34 0,40
| ¥ 045 047
0,15 0,19
0,58 0,32
0,25 0,44

Lg=63cd/n?

experiment: %
AD 0,1s A,Yt&
3 repeatg\
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L/AL luminance contrast
sensitivity threshold

401 x v
A 0,34 0,40

Lg=63cd/n?

Y e G experiment: %
J 2 AD0,1s ARy

0,15 0,19 3repeats
0,58 0,32 5

20T © 0,25 044
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L/AL luminance contrast

sensitivity threshold

401 XY s
A 0,34 0,40 experiment:
Y 045 047 yRo1sANS

Uil @K 3repeats ‘\\
0,58 0,32

0,25 0,44

Lg=63cd/n?
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L/AL luminance contrast

407

301

201

sensitivity threshold

X
A 0,34
Y 0,45
0,15
0,58
0,25

y
0,40
0,47
0,19
0,32
0,44

Lg=6.3cdinf

experiment:
KR 0,1s A

3 repeats
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L/AL luminance contrast
sensitivity threshold

407

X
A 0,34
Y 0,45
0,15
0,58
0,25

y
0,40
0,47
0,19
0,32
0,44

Lg=6.3cd/n?

experiment:
BM 0,1s A

3 repeats
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L/AL luminance contrast
sensitivity threshold

407

301

2071

101

0

X
A 0,34
Y 0,45
0,15
0,58
0,25

y
0,40
0,47
0,19
0,32
0,44

Lg=6.3cd/n?

experiment:

KR 0,1s Y
3 repeats
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L/AL luminance contrast
sensitivity threshold

x oy

407

A 0,34
Y 0,45
0,15
0,58
0,25

0,40
0,47
0,19
0,32
0,44

Lg=6.3cd/n?

experiment:

PO 0,1sB
3 repeats
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TE520-7R

lumin

sensi
X

A 0,34

Y 0,45
0,15
0,58
0,25

ance contrast
tivity threshold

y

0,40
0,47
0,19
0,32
0,44

PO 0,1s A
3 reneats

experiment:

Lg=6.3cd/n?

TE520-2A_9

L/AL luminance contrast
sensitivity threshold

X
A 0,34
Y 0,45
0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:
AD0,1s A
3 repeats

Lg=6.3cd/n?
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L/AL luminance contrast
sensitivity threshold

407

301

201

101

0

X
A 0,34
Y 0,45
0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:
AD0,1s Y
3 repeats

Lg=6.3cd/n?

TE520-6A_9

L/AL luminance contrast
sensitivity threshold

X
A 0,34
Y 0,45
0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:
AD0,1s B
3 repeats

Lg=6.3cd/n?
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luminance contrast
sensitivity threshold

X
A 0,34
| v 045
0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:

BM0,1s R
3 repea.s

Lg=6.3cd/n?

TE521-1A_9

L/AL luminance contrast
sensitivity threshold

X
A 0,34
| v 045
0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:
AD 0,1s G
3 repeats

Lg=6.3cd/n?

TE521-3A_9

L/AL luminance contrast
sensitivity threshold

407

301

201

101

0

X
A 0,34
Y 0,45
0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:
AD 0,1s A,B
3 repeats

Lg=6.3cd/n?

TE521-5A_9

L/AL luminance contrast
sensitivity threshold

X
A 0,34

| v 0,45

0,15
0,58
0,25

y

0,40
0,47
0,19
0,32
0,44

experiment:
AD 0,1s A,G
3 repeats

Lg=6.3cd/n?

TE521-7A_9

luminance contrast
sensitivity threshold
X oy

A 0,34 0,40

Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=6,3cd/n?

experiment:
AD0,1s R
3 repeats
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L/AL luminance contrast
sensitivity threshold

40T X y

A 0,34 0,40

| ¥ 045 047

0,15 0,19

0,58 0,32

0,25 0,44

Lg=6,3cd/n?

experiment:
AD 0,1s AY
3 repeats

TE521-4A_9

L/AL luminance contrast
sensitivity threshold

40T X Y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
20T © 0,25 044

Lg=6,3cd/n?

experiment:
AD 0,1s AR
3 repeats
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L/AL luminance contrast
sensitivity threshold
40. X y
A 0,34 0,40
Y 0,45 0,47
0,15 0,19
0,58 0,32
0,25 0,44

Lg=6,3cd/n?

experiment:
KR 0,1s A)Y
3 repeats
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